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Answer all questions.

Production at Fris-Bagel (FB) is described as a ‘flowing batch’ (line 20).

Analyse two possible reasons why production has been organised in this way.
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2 Anders is very concerned about the problem of increasing waste throughout the production
process at FB.

Evaluate the extent to which this problem can be solved. [13]
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Analyse one reason why FB might decide not to carry out a work study of the production line.
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Reducing waste is one method of increasing productive efficiency at FB.

Discuss other methods which FB could use to increase productive efficiency. [13]

©OCR 2015 Turn over



© OCR 2015



©OCR 2015 Turn over



5

10

The table below shows the cost of producing bagels at FB.

Direct labour (per box)

£2.30

Ingredients (per box)

£0.90

Calculate the change in the contribution per box of bagels from the usual price of £8 to the HH

offer price of £5.
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6* Considering production and other issues, should FB accept the offer from HH? Justify your view.
[18]
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END OF QUESTION PAPER
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